# GLOBAL STABILITY OF A NONLINEAR DIFFERENCE EQUATION ${ }^{\dagger}$ 

YANQIN WANG


#### Abstract

In this paper, we investigate the local asymptotic stability, the invariant intervals, the global attractivity of the equilibrium points, and the asymptotic behavior of the solutions of the difference equation $x_{n+1}=\frac{a+b x_{n} x_{n-k}}{A+B x_{n}+C x_{n-k}}, \quad n=0,1, \ldots$, where the parameters $a, b, A, B, C$ and the initial conditions $x_{-k}, \ldots, x_{-1}, x_{0}$ are positive real numbers.

AMS Mathematics Subject Classification : 39A11. Key words and phrases : Difference equation, Equilibrium point, Local asymptotic stability, Invariant interval, Global asymptotic stability.


## 1. Introduction and preliminaries

In this paper, we consider the following rational difference equation

$$
\begin{equation*}
x_{n+1}=\frac{a+b x_{n} x_{n-k}}{A+B x_{n}+C x_{n-k}}, \quad n=0,1, \ldots \tag{1.1}
\end{equation*}
$$

where the parameters $a, b, A, B, C>0$, and the initial conditions $x_{-k}, \ldots, x_{-1}$, $x_{0}>0 . k \in\{1,2,3, \ldots\}$.

We investigate the local and global asymptotic behaviour and the invariant intervals of the solutions of the difference Eq.(1.1). It is worth mentioning that our main results are motivated by the results in $[3,5,6]$. For some related works see [1-15].

Here, we recall some notations and results which will be useful in our investigation.

Let I be some interval of real numbers and let

$$
f: I^{k+1} \rightarrow I
$$

be a continuously differentiable function .Then for every pair of initial conditions $x_{-k}, \ldots, x_{0} \in I$, the difference equation

[^0]\[

$$
\begin{equation*}
x_{n+1}=f\left(x_{n}, x_{n-k}\right), \quad, n=0,1, \ldots, \tag{1.2}
\end{equation*}
$$

\]

has a unique solution $\left\{x_{n}\right\}_{n=-k}^{\infty}$. (see [2])
A point $\bar{x}$ is called an equilibrium point of (1.2) if $\bar{x}=f(\bar{x}, \bar{x})$.
That is, $x_{n}=\bar{x}, \quad$ for $n \geq-k$ is a solution of Eq.(1.2), or equivalently, $\bar{x}$ is a fixed point of $f$.

Definition 1.1 (Stability). Let $\bar{x}$ be an equilibrium point of Eq.(1.2) and assume that I is some interval of real numbers.
(i) The equilibrium $\bar{x}$ of Eq. (1.2) is called locally stable (or stable) if for every $\epsilon>0$, there exists $\delta>0$ such that if $x_{-k}, \ldots, x_{-1}, x_{0} \in I$ and $\left|x_{-k}-\bar{x}\right|+\cdots+$ $\left|x_{-1}-\bar{x}\right|+\left|x_{0}-\bar{x}\right|<\delta$, then
$\left|x_{n}-\bar{x}\right|<\epsilon$ for all $n \geq-k$.
(ii) The equilibrium $\bar{x}$ of Eq. (1.2) is called locally asymptotically stable (or asymptotically stable) if it is stable and if there exist $\gamma>0$ such that if

$$
\begin{aligned}
& x_{-k}, \ldots, x_{-1}, x_{0} \in I \text { and }\left|x_{-k}-\bar{x}\right|+\cdots+\left|x_{-1}-\bar{x}\right|+\left|x_{0}-\bar{x}\right|<\gamma, \\
& \text { then } \\
& \lim _{n \rightarrow \infty} x_{n}=\bar{x}
\end{aligned}
$$

(iii) The equilibrium $\bar{x}$ of Eq. (1.2) is called a global attractor if for every $x_{-k}, \ldots, x_{-1}, x_{0} \in I$, we have $\lim _{n \rightarrow \infty} x_{n}=\bar{x}$
(iv) The equilibrium $\bar{x}$ of Eq. (1.2) is called a globally asymptotically stable (or globally stable) if it is stable and is a global attractor.
(v) The equilibrium $\bar{x}$ of Eq. (1.2) is called unstable if it is not stable.

Let

$$
u=\frac{\partial f}{\partial x}(\bar{x}, \bar{x}) \text { and } v=\frac{\partial f}{\partial y}(\bar{x}, \bar{x}),
$$

where $f(x, y)$ is the function in Eq.(1.2) and $\bar{x}$ is an equilibrium of the equation. Then the equation

$$
\begin{equation*}
y_{n+1}=u y_{n}+v y_{n-k}, \quad n=0,1, \ldots \tag{1.3}
\end{equation*}
$$

is called the linearized equation associated with Eq.(1.2) about the equilibrium point $\bar{x}$.
Lemma 1.1 (see $[1,12]$ ). Assume that $u, v \in R$ and $k \in\{1,2, \ldots\}$. Then

$$
\begin{equation*}
|u|+|v|<1 \tag{1.4}
\end{equation*}
$$

is a sufficient condition for the asymptotic stability of the difference equation (1.3). Suppose in addition that one of the following two cases holds:
(i) $k$ is odd and $v>0$;
(ii) $k$ is even and $u v>0$.

Then (1.4) is also a necessary condition for the asymptotic stability of Eq.(1.3).

Lemma 1.2 (see [2]). Consider the difference equation

$$
x_{n+1}=f\left(x_{n}, x_{n-k}\right), \quad n=0,1,2, \ldots
$$

where $k \in\{1,2, \ldots\}$. Let $I=[c, d]$ be some interval of real numbers and assume that
$f:[c, d] \times[c, d]] \rightarrow[c, d]$
is a continuous function satisfying the following properties:
(i) $f(x, y)$ is increasing in each argument in $[c, d]$;
(ii) the equation $f(x, x)=x$ has a unique positive solution.

Then Eq.(1.2) has a unique equilibrium $\bar{x} \in[c, d]$ and every solution of Eq.(1.2) converges to $\bar{x}$.
Lemma 1.3 (see [2, 4]). Consider the difference equation

$$
x_{n+1}=f\left(x_{n}, x_{n-k}\right), \quad n=0,1,2, \ldots
$$

where $k \in\{1,2, \ldots\}$. Let $I=[c, d]$ be some interval of real numbers and assume that
$f:[c, d] \times[c, d] \rightarrow[c, d]$
is a continuous function satisfying the following properties:
(i) $f(x, y)$ is non-decreasing in $x \in[c, d]$ for each $y \in[c, d]$, and $f(x, y)$ is non-increasing in $y \in[c, d]$ for each $x \in[c, d]$;
(ii) If $(m, M) \in[c, d] \times[c, d]$ is a solution of the system $f(m, M)=m$ and $f(M, m)=M$, then $m=M$.
Then Eq.(1.2) has a unique equilibrium $\bar{x} \in[c, d]$ and every solution of Eq.(1.2) converges to $\bar{x}$.

Lemma 1.4 (see [4, 5]). Consider the difference equation

$$
x_{n+1}=f\left(x_{n}, x_{n-k}\right), \quad n=0,1,2, \ldots
$$

where $k \in\{1,2, \ldots\}$. Let $I=[c, d]$ be some interval of real numbers and assume that
$f:[c, d] \times[c, d] \rightarrow[c, d]$
is a continuous function satisfying the following properties:
(i) $f(x, y)$ is nonincreasing in each of its arguments;
(ii) If $(m, M) \in[c, d] \times[c, d]$ is a solution of the system $f(m, m)=M$ and $f(M, M)=m$, then $m=M$.
Then Eq.(1.2) has a unique equilibrium $\bar{x} \in[c, d]$ and every solution of Eq.(1.2) converges to $\bar{x}$.

## 2. Local stability and periodic character

In this section, we consider the local stability and periodic character of the positive solutions of Eq.(1.1).

The change of variables $y_{n}=\sqrt{b} x_{n}$ followed by the change $x_{n}=y_{n}$ reduces Eq.(1.1) to the difference equation

$$
\begin{equation*}
x_{n+1}=\frac{a+x_{n} x_{n-k}}{r+p x_{n}+q x_{n-k}}, \quad n=0,1, \ldots, \tag{2.1}
\end{equation*}
$$

where $r=\frac{A}{\sqrt{b}}, p=\frac{B}{b}, q=\frac{C}{b}$, and the initial conditions $x_{-k}, \ldots, x_{-1}, x_{0}$ are positive real numbers. Hereafter, we focus our attention on Eq.(2.1) instead of Eq.(1.1).

The equilibrium points of Eq.(2.1) have the following four cases:
Case 1: $p+q>1$, Eq.(2.1) has a unique positive equilibrium point

$$
\alpha=\frac{-r+\sqrt{r^{2}+4 a(p+q-1)}}{2(p+q-1)} .
$$

Case 2: $p+q=1$, Eq.(2.1) has a unique positive equilibrium point

$$
\beta=\frac{a}{r} .
$$

Case 3: $p+q<1, r^{2}-4 a(1-p-q)=0$, Eq.(2.1) has a unique positive equilibrium point

$$
\gamma=\frac{r}{2(1-p-q)}
$$

Case 4: $p+q<1, r^{2}-4 a(1-p-q)>0$, Eq.(2.1) has the following two equilibrium points:

$$
\eta_{1}=\frac{r+\sqrt{r^{2}-4 a(1-p-q)}}{2(1-p-q)}, \quad \eta_{2}=\frac{r-\sqrt{r^{2}-4 a(1-p-q)}}{2(1-p-q)}
$$

First, we consider the local asymptotic behavior of the equilibrium point $\alpha$ in Case 1.

Let $f:(0, \infty)^{2} \rightarrow(0, \infty)$ be a function defined by

$$
f(x, y)=\frac{a+x y}{r+p x+q y}
$$

Therefore it follows that

$$
f_{x}=\frac{y r+q y^{2}-a p}{(r+p x+q y)^{2}}, \quad f_{y}=\frac{x r+p x^{2}-a q}{(r+p x+q y)^{2}}
$$

For simplicity and convenience in the following discussion, we define:

$$
\begin{gathered}
g_{1}:=g_{1}(y)=y r+q y^{2}-a p, \quad g_{2}:=g_{2}(x)=x r+p x^{2}-a q \\
\theta_{1}=\frac{-r+\sqrt{r^{2}+4 a p q}}{2 q}, \quad \theta_{2}=\frac{-r+\sqrt{r^{2}+4 a p q}}{2 p}
\end{gathered}
$$

where $\theta_{1}, \theta_{2}$ is the unique positive solution of equation $g_{1}=0$ and equation $g_{2}=0$ respectively.

The linearized equation associated wih Eq.(2.1) about $\alpha$ is

$$
z_{n+1}=\frac{r \alpha+q \alpha^{2}-a p}{[r+(p+q) \alpha]^{2}} z_{n}+\frac{r \alpha+p \alpha^{2}-a q}{[r+(p+q) \alpha]^{2}} z_{n-k}, \quad n=0,1,2, \ldots
$$

The local asymptotic behavior of $\alpha$ is characterized by the following result.
Theorem 2.1. Assume $p+q>1, p<q$. Then $\alpha$ is locally asymptotically stable if one of the following three conditions is satisfied:
(i) $p<q \leq 1$,
(ii) $p<1<q$ and $r^{2}-a(q-p) \geq 0$,
(iii) $1<p<q$ and $r^{2} \geq a(p+q)$.

Proof. When $p<q, \theta_{1}<\theta_{2}$. Let

$$
u=f_{x}(\alpha, \alpha)=\frac{r \alpha+q \alpha^{2}-a p}{[r+(p+q) \alpha]^{2}}, \quad v=f_{y}(\alpha, \alpha)=\frac{r \alpha+p \alpha^{2}-a q}{[r+(p+q) \alpha]^{2}} .
$$

(i) If $p<q \leq 1$, then $\alpha \geq \theta_{2}$ and $g_{1}>0, g_{2}>0$ in $\left[\theta_{2}, \infty\right)$. So, $|u|+|v|=$ $u+v<1$.
(ii) If $p<1<q$ and $r^{2}-a(q-p) \geq 0$, then $\theta_{1}<\alpha<\theta_{2}$, and $g_{1}>0, g_{2}<0$ in $\left(\theta_{1}, \theta_{2}\right)$. Thus, $|u|+|v|=u-v<1$.
(iii) If $1 \leq p<q$ and $r^{2} \geq a(p+q)$, then $\alpha<\theta_{1}$, and $g_{1}<0, g_{2}<0$ in $\left(0, \theta_{1}\right]$.

Therefore, $|u|+|v|=-u-v<1$. The result follows from Lemma 1.1.
Theorem 2.2. Assume $p+q>1, p>q$. Then $\alpha$ is locally asymptotically stable if one of the following three conditions is satisfied:
(i) $1 \geq p>q$,
(ii) $p>1>q$,
(iii) $p>q \geq 1$ and $r^{2} \geq a(p+q)$.

Proof. The proof is similar to that of Theorem 2.1, and we omit it.
Theorem 2.3. Assume $p+q>1, p=q$. Then $\alpha$ is locally asymptotically stable if one of the following three conditions is satisfied:
(i) $p=q<1$,
(ii) $p=q>1$, and $r^{2} \geq a(p+q)$.

Proof. The proof is similar to that of Theorem 2.1, and we omit it.
Next, we investigate the local asymptotic behavior of the remaining equilibrium points $\beta, \eta_{1}, \eta_{2}, \gamma$ and have the following result.

## Theorem 2.4.

(i) If $p+q=1$, then $\beta$ is locally asymptotically stable.
(ii) If $p+q<1, r^{2}-4 a(1-p-q)=0$, then $\gamma$ is locally asymptotically stable.
(iii) If $p+q<1, r^{2}-4 a(1-p-q)>0$, then $\eta_{1}$ is unstable, while $\eta_{2}$ is locally asymptotically stable.
Proof. (i)The linearized equation associated wih Eq.(2.1) about the equilibrium
point $\beta$ is

$$
z_{n+1}=\frac{r \beta+q \beta^{2}-a p}{[r+(p+q) \beta]^{2}} z_{n}+\frac{r \beta+p \beta^{2}-a q}{[r+(p+q) \beta]^{2}} z_{n-k}, \quad n=0,1,2, \ldots
$$

Set

$$
u=f_{x}(\beta, \beta)=\frac{r \beta+q \beta^{2}-a p}{[r+(p+q) \beta]^{2}}, \quad v=f_{y}(\beta, \beta)=\frac{r \beta+p \beta^{2}-a q}{[r+(p+q) \beta]^{2}}
$$

If $p+q=1$, then $\beta>\theta_{1}, \quad \beta>\theta_{2}$, and $g_{1}(\beta)>0, g_{2}(\beta)>0$. Thus, $|u|+|v|=u+v<1$, the result (i) follows from Lemma1.1.
(ii)If $p+q<1, r^{2}-4 a(1-p-q)=0$, then $\gamma>\theta_{1}, \quad \gamma>\theta_{2}$. Similarly to the proof of (i), the result follows from Lemma1.1.
(iii) The linearized equation associated wih Eq.(2.1) about the equilibrium point $\eta_{1}$ is

$$
z_{n+1}=\frac{r \eta_{1}+q \eta_{1}^{2}-a p}{\left[r+(p+q) \eta_{1}\right]^{2}} z_{n}+\frac{r \eta_{1}+p \eta_{1}^{2}-a q}{\left[r+(p+q) \eta_{1}\right]^{2}} z_{n-k}, \quad n=0,1,2, \ldots
$$

Set

$$
u=f_{x}\left(\eta_{1}, \eta_{1}\right)=\frac{r \eta_{1}+q \eta_{1}^{2}-a p}{\left[r+(p+q) \eta_{1}\right]^{2}}, \quad v=f_{y}\left(\eta_{1}, \eta_{1}\right)=\frac{r \eta_{1}+p \eta_{1}^{2}-a q}{\left[r+(p+q) \eta_{1}\right]^{2}}
$$

If $p+q<1, r^{2}-4 a(1-p-q)>0$, then $\eta_{1}>\theta_{1}, \quad \eta_{1}>\theta_{2}$, and $g_{1}\left(\eta_{1}\right)>$ $0, g_{2}\left(\eta_{1}\right)>0$. But $|u|+|v|=u+v>1$, and $v>0, \quad u v>0$. So, $\eta_{1}$ is unstable by Lemma1.1(i-ii).

As for as $\eta_{2}$, similarly to the proof of (i), the result follows from Lemma1.1.

In the following, we consider the periodic character of the positive solutions of Eq.(2.1).
Theorem 2.5. Eq.(2.1) has no positive solutions with prime period two.
Proof. Assume, for the sake of contradiction, that
$\ldots, \Phi, \Psi, \Phi, \Psi, \ldots$
is a prime period-two positive solution of Eq.(2.1).There are two cases to be considered.

Case 1: $k$ is odd.
In this case, $x_{n+1}=x_{n-k}, \Phi$ and $\Psi$ satisfy the system
$a+\Psi \Phi=\Phi r+p \Phi \Psi+q \Phi^{2}$ and $a+\Phi \Psi=\Psi r+p \Phi \Psi+q \Psi^{2}$.
Subtracting these two equations, we obtain

$$
(\Phi-\Psi)[r+q(\Phi+\Psi)]=0
$$

Since $r+q(\Phi+\Psi)>0$, we have $\Phi=\Psi$. This is a contradiction.
Case 2: $k$ is even.
In this case, $x_{n}=x_{n-k}, \Phi$ and $\Psi$ satisfy the system
$a+\Psi^{2}=\Phi r+(p+q) \Phi \Psi$ and $a+\Phi^{2}=\Psi r+(p+q) \Phi \Psi$.
Subtracting these two equations, we obtain

$$
(\Psi-\Phi)(\Psi+\Phi+r)=0
$$

Since $\Psi+\Phi+r>0$, we have $\Phi=\Psi$. This is a contradiction.

## 3. Global attractivity of the positive equilibrium points

In this section, we investigate the global attractivity of the four equilibrium points $\alpha, \beta, \gamma, \eta_{2}$.

First, we consider the global attractivity of $\alpha$ and have the following results.
Theorem 3.1. Assume that $p+q>1, p<q$. Then the positive equilibrium $\alpha$ of Eq.(2.1) is a global attractor.

Proof. When $p<q, \theta_{1}<\theta_{2}$. Set

$$
f(x, y)=\frac{a+x y}{r+p x+q y} .
$$

Observe that the function $f(x, y)$ increases in each argument in $\left[\theta_{2}, \infty\right)$, increases in $x$ for all $y \in\left(\theta_{1}, \theta_{2}\right)$, decreases in $y$ for all $x \in\left(\theta_{1}, \theta_{2}\right)$, decreases in each argument in $\left(0, \theta_{1}\right]$.

We divide the proof into the following three case:
Case 1: $p<q \leq 1$.
Since $g_{1}>0, g_{2}>0$ for all $x, y \in\left[\theta_{2}, \infty\right), f(x, y)$ increases in each argument in $\left(\theta_{2}, \infty\right) . \alpha \geq \theta_{2}$ if $p<q<1$.

The equation $f(x, x)=x$ has a unique solution $\alpha$ in $\left[\theta_{2}, \infty\right)$. Thus by Lemma1.2, Eq.(2.1) has a unique equilibrium point $\alpha$ and every solution of Eq.(2.1) converges to $\alpha$ in $\left[\theta_{2}, \infty\right)$.

Case 2: $p<1<q$.
Since $g_{1}>0, g_{2}<0$ for all $x, y \in\left(\theta_{1}, \theta_{2}\right) . f(x, y)$ increases in $x$ for all $y \in\left(\theta_{1}, \theta_{2}\right)$ and decreases in $y$ for all $x \in\left(\theta_{1}, \theta_{2}\right) . y_{2}<\alpha<\theta_{2}$ if $p<1<q$. The only solution of the system

$$
m=\frac{a+m M}{r+p m+q M}, \quad M=\frac{a+M m}{r+p M+q m}
$$

is $m=M$. Then by Lemma1.3, every solution of Eq.(2.1) converges to $\alpha$ in $\left(\theta_{1}, \theta_{2}\right)$.

Case 3: $1 \leq p<q$.
Since $g_{1}<0, g_{2}<0$ for all $x, y \in\left(0, \theta_{1}\right], f(x, y)$ decreases in each argument in $\left(0, \theta_{1}\right] . \alpha \leq \theta_{1}$ if $1<p<q$. The only solution of the system

$$
M=\frac{a+m^{2}}{r+(p+q) m}, \quad m=\frac{a+M^{2}}{r+(p+q) M}
$$

is $m=M$. Then following from Lemma1.4, every solution of Eq.(2.1) converges to $\alpha$ in $\left(0, \theta_{1}\right]$.

Theorem 3.2. Assume that $p+q>1, p>q$.
Then the positive equilibrium $\alpha$ of Eq.(2.1) is a global attractor.

Proof. When $p>q, \theta_{1}>\theta_{2}$. Similar to the proof of Theorem 3.1, and it is easy to verify that the following statement is true:
(i) If $1 \geq p>q$, then every solution of Eq.(2.1) converges to $\alpha$ in $\left[\theta_{1}, \infty\right)$.
(ii) If $p>1>q$, then every solution of Eq.(2.1) converges to $\alpha$ in $\left(\theta_{2}, \theta_{1}\right)$.
(iii) If $p>q \geq 1$, then every solution of Eq.(2.1) converges to $\alpha$ in ( $0, \theta_{2}$ ].

Theorem 3.3. Assume that $p+q>1, p=q$. Then the positive equilibrium $\alpha$ of Eq.(2.1) is a global attractor.
Proof. Similar to the proof of Theorem 3.1, the following statement is easily proved to be true:
(i) If $p=q \leq 1$, then Eq.(2.1) has a unique equilibrium point $\alpha$ and every solution of Eq. (2.1) converges to $\alpha$ in $\left[\theta_{2}, \infty\right)$.
(ii) If $p=q>1$, then every solution of Eq.(2.1) converges to $\alpha$ in $\left(0, \theta_{2}\right)$.

By Theorem 3.1, 3.2, 3.3 and Lemma2.1, we have the following corollaries.
Corollary 3.1. Assume $p+q>1, p<q$. Then $\alpha$ is globally asymptotically stable if one of the following three conditions is satisfied:
(i) $p<q \leq 1$,
(ii) $p<1<q$ and $r^{2}-a(q-p) \geq 0$,
(iii) $1<p<q$ and $r^{2} \geq a(p+q)$.

Corollary 3.2. Assume $p+q>1, p>q$. Then $\alpha$ is globally asymptotically stable if one of the following three conditions is satisfied:
(i) $1 \geq p>q$,
(ii) $p>1>q$,
(iii) $p>q \geq 1$ and $r^{2} \geq a(p+q)$.

Corollary 3.3. Assume $p+q>1, p=q$. Then $\alpha$ is globally asymptotically stable if one of the following three conditions is satisfied:
(i) $p=q \leq 1$,
(ii) $p=q>1$, and $r^{2} \geq a(p+q)$.

Next, we examine the global attractivity of $\beta, \gamma, \eta_{2}$.

## Theorem 3.4.

(i) If $p+q=1$, then $\beta$ is a global attractor.
(ii) If $p+q<1, r^{2}-4 a(1-p-q)=0$, then $\gamma$ is a global attractor.
(iii) If $p+q<1, r^{2}-4 a(1-p-q)>0$, then $\eta_{2}$ is a global attractor.

Proof. (i) Set

$$
f(x, y)=\frac{a+x y}{r+p x+q y} .
$$

We divide the proof into the following two case:
Case 1: $p>q$.

In this case, $\theta_{2}<\theta_{1}, \beta>\theta_{1}, f(x, y)$ is increasing in each argument in $\left(\theta_{1}, \infty\right)$. What's more, the equation $f(y, y)=y$ has a unique solution $\beta$ in $\left(\theta_{1}, \infty\right)$. Thus by Lemma1.2, Eq.(2.1) has a unique equilibrium point $\beta$ and every solution of Eq.(2.1) converges to $\alpha$ in $\left(\theta_{1}, \infty\right)$.
Case 2: $p \leq q$.
In this case, $\theta_{2} \geq \theta_{1}, \beta>\theta_{2}, f(x, y)$ is increasing in each argument in $\left(\theta_{2}, \infty\right)$. In addition, the equation $f(y, y)=y$ has a unique solution $\beta$ in $\left(\theta_{2}, \infty\right)$. Thus by Lemma1.2, Eq.(2.1) has a unique equilibrium point $\beta$ and every solution of Eq.(2.1) converges to $\alpha$ in $\left(\theta_{2}, \infty\right)$.
(ii) The proof is similar to that of (i), and we omit it.
(iii) If $p+q<1, r^{2}-4 a(1-p-q)>0$, then $\eta_{1}>\eta_{2}>\max \left\{\theta_{2}, \theta_{1}\right\}$ and $g_{1}\left(\eta_{1}\right)>0, g_{2}\left(\eta_{1}\right)>0, g_{1}\left(\max \left\{\theta_{2}, \theta_{1}\right\}\right)>0, g_{2}\left(\max \left\{\theta_{2}, \theta_{1}\right\}\right)>0$. So, $f(x, y)$ is increasing in each argument in $\left(\max \left\{\theta_{2}, \theta_{1}\right\}, \eta_{1}\right)$. What's more, the equation $f(y, y)=y$ has a unique solution $\eta_{2}$ in $\left(\max \left\{\theta_{2}, \theta_{1}\right\}, \eta_{1}\right)$. Thus by Lemma1.2, Eq.(2.1) has a unique equilibrium point $\eta_{2}$ and every solution of Eq. (2.1) converges to $\eta_{2}$ in $\left(\max \left\{\theta_{2}, \theta_{1}\right\}, \eta_{1}\right)$.

By Theorem 3.4 and Lemma2.1, we obtain the following corollary.

## Corollary 3.4.

(i) If $p+q=1$, then $\beta$ is globally asymptotically stable.
(ii) If $p+q<1, r^{2}-4 a(1-p-q)=0$, then $\gamma$ is globally asymptotically stable.
(iii) If $p+q<1, r^{2}-4 a(1-p-q)>0$, then $\eta_{2}$ is globally asymptotically stable.

## 4. Invariant intervals

From the discussion of the global attractivity of the positive equilibrium points in section 3 , it is easy to have the following results about invariant intervals.

Theorem 4.1. Assume that $p+q>1, r^{2} \geq a(p+q), p<q$.
(i) If $p<q \leq 1$, then every positive solution of Eq.(2.1) lies eventually in $\left[\theta_{2}, \infty\right)$.
(ii) If $p<1<q$, then every positive solution of Eq.(2.1) lies eventually in $\left(\theta_{1}, \theta_{2}\right)$.
(iii) If $1 \leq p<q$, then every positive solution of Eq.(2.1) lies eventually in $\left(0, \theta_{1}\right]$.
Theorem 4.2. Assume that $p+q>1, r^{2} \geq a(p+q), p>q$.
(i) If $1 \geq p>q$, then every positive solution of Eq.(2.1) lies eventually in $\left[\theta_{1}, \infty\right)$.
(ii) If $p>1>q$, then every positive solution of Eq.(2.1) lies eventually in $\left(\theta_{2}, \theta_{1}\right)$.
(iii) If $p>q \geq 1$ then every positive solution of Eq.(2.1) lies eventually in $\left(0, \theta_{2}\right]$.

Theorem 4.3. Assume that $p+q>1, r^{2} \geq a(p+q), p=q$.
(i) If $p=q \leq 1$, then every positive solution of Eq.(2.1) lies eventually in $\left[\theta_{2}, \infty\right)$.
(ii) If $p=q>1$, then every positive solution of Eq.(2.1) lies eventually in $\left(0, \theta_{2}\right)$.

Theorem 4.4. Assume that $p+q=1$, then the following statement is true:
(i) If $p>q$, then every positive solution of Eq.(2.1) lies eventually in $\left(\theta_{1}, \infty\right)$.
(ii) If $p \leq q$, then every positive solution of Eq.(2.1) lies eventually in $\left(\theta_{2}, \infty\right)$.

Theorem 4.5. Assume that $p+q<1, r^{2}-4 a(1-p-q)=0$, then the following statement is true:
(i) If $p>q$, then every positive solution of Eq.(2.1) lies eventually in $\left(\theta_{1}, \infty\right)$.
(ii) If $p \leq q$, then every positive solution of Eq.(2.1) lies eventually in $\left(\theta_{2}, \infty\right)$.

## References

1. V. L. Kocic, and G.Ladas , Global Behavior of Nonlinear Difference Equations of Higher Order with Applications, Kluwer Academic Publishers, Dordrecht, 1993.
2. M.R.S. Kulenovic, G. Ladas, Dynamics of Second Order Rational Difference Equations with Open Problems and Conjectures, Chapman \& Hall/CRC, Boca Raton, 2002.
3. E. M.Elabbasy, H.El-Metwally, and E. M.Elsayed, Dynamics of a Rational Difference Equation, Chin.Ann.Math. Vol.30B( 2009),No 2, 187-198.
4. M.Dehghan, M.J.Douraki, On the recursive sequence $x_{n+1}=\frac{\alpha+\beta x_{n-k+1}+\gamma x_{n-2 k+1}}{B x_{n-k+1}+C x_{n-2 k+1}}$, Appl.Math.Comput. 170(2005), 1045-1066.
5. R. Abu-Saris, C.Cinar, I. Yalcinkaya, On the asymptotic stability of $x_{n+1}=\frac{a+x_{n} x_{n-k}}{x_{n}+x_{n-k}}$, Comput.Math.Appl. 56 (2008), 1172-1175.
6. X.F.Yang, W.F.Su, B.Chen, G.M.Megson, David J.Evans, On the recursive sequence $x_{n}=$ $\frac{a x_{n-1}+b x_{n-2}}{c+d x_{n-1} x_{n-2}}$, Appl.Math.Comput. 162 (2005), 1485-1497.
7. Y.Q.Wang, On the dynamics of $x_{n+1}=\frac{\beta x_{n}+\gamma x_{n-k}}{B x_{n}+C x_{n-k}+\alpha}$, J.Diff.Equat.Appl.Vol.15(2009), No.10, 949-961.
8. M. Dehghan, R. Mazrooei-Sebdani, The characteristics of a higher-order rational difference equation, Appl.Math.Comput. 182 (2006), 521-528.
9. R.DeVault, W.Kosmala, G.Ladas, and S.W.Schultz, Global behavior of $y_{n+1}=\frac{p+y_{n-k}}{q y_{n}+y_{n-k}}$, Non.Anal. 47(2001), 4743-4751.
10. M. Dehghan, M.J. Douraki , M.Razzaghi, Global behavior of the difference equation $x_{n+1}=\frac{x_{n-l+1}}{1+a_{0} x_{n}+a_{1} x_{n-1}+\ldots+a_{l} x_{n-l}+x_{n-l+1}}$, Chaos, Solitons and Fractals 35 (2008), 543549.
11. V.L. Kocic, G. Ladas, I.W. Rodrigues, On rational recursive sequences, J.Math.Anal.Appl. 173 (1993), 127-157.
12. M.Saleh, S.Abu-Baha, Dynamics of a higher order rational difference equation, Appl.Math.Comput. 181(2006), 84-102.
13. M.S. Reza, M. Dehghan, Global stability of $y_{n+1}=\frac{p+q y_{n}+r y_{n-k}}{1+y_{n}}$, Appl.Math.Comput. 182 (2006), 621-630.
14. Y.Q.Wang, Dynamics of a higher order rational difference equation, J. Appl. Math. \& Informatics Vol. 27(2009), No. 3-4, 749-755.
15. W.A.Kosmala, M.R.S.Kulenović, G. Ladas, and C. T. Teixeira, On the Recursive Sequence $y_{n+1}=\frac{p+y_{n-1}}{q y_{n}+y_{n-1}}$, J.Math. Anal.Appl. 251(2000), 571-586.

YanQin Wang received her BS from QuFu Normal University and MS at the East China Normal University(ECNU). Since 2004 she has been working at School of Physics \& Mathematics in Jiangsu Polytechnic University which is now Changzhou University since May, 2010. Her research interests focus on functional differencial equation and difference equation. Also she does consulting in Mathematical Biology .
School of Physics \& Mathematics, Changzhou University, Changzhou, 213164, Jiangsu, P.R.China.
e-mail: wangyanqin366@163.com


[^0]:    Received March 10, 2010. Revised July 7, 2010. Accepted July 22, 2010.
    ${ }^{\dagger}$ This work was supported by School Foundation of Changzhou University(JS200801).
    (C) 2011 Korean SIGCAM and KSCAM.

